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IBPS RRB Clerk Prelims Previous Year Paper - 2022

Directions (1-5): In these questions, relationship between different elements is shown in the statements.

The statements are followed by conclusions. Study the conclusions based on the given statements and
select the appropriate answer:

T TN § AT H AT qcat = Gaer i T TAT 81 FAAT 6 978 [Hewd {7 a0 g1 R T weei F e
o7 et T e g IO 37 ST ST AT 9T i o110

(a) If only conclusion I follows.

T Faer Aoy [ a0 HLaT gl

(b) If only conclusion II follows.

7% haer Aoy 11 a0 F:2aT 2l

(c) If either conclusion I or II follows.

7t 37 7 R [ =7 11 S8 F7aT &

(d) If neither conclusion I nor II follows.

7% 7 7 R [ 37 T 5T 11 STE0T 2T 2

(e) If both conclusions I and II follow.

Tfe e [ =¥ 11 ST ST 3 &l

Q1. Statements/#9T:F>R>=T=E>W<Q

Conclusions/fAss¥: . E< F
ILQ>T

Q2. Statements/&T: W=G=T=C<V<B
Conclusions/fAsFd: I. W > C
ILW=T

Q3. Statements/#9T: K>1>2G>F<T<R

Conclusions/fA=rd: 1. K > R -
ILR>G " ENGLISH |

Q4. Statements/#47: Q>0=2P=K<U<Z <}'}‘7 MAEST RO

Conclusions/fAsrt: 1. Z > K

et RBI GRADE 'B’
Q5. Statements/&M: K<G<D<C>R<Y PHASE-I + |l
Conclusions/fAsFd: 1. C > G

ILK<D 200+ TOTAL TESTS
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Directions (6-10): Study the following sequence carefully and answer the given questions.

fRerferfaa srgere T eagE s sreaa Sitory, i faw 10wt & 3= <o
B@9#C1£28Du7K5LE%U&F€MG4!3Z?6X¥P5A06

Q6. Which of the following element is sixth to the left of the eighth element from the right end of the given
arrangement?

Referferd § & I a7 Tcd &F T2 FATeAT 314 YT F 339 acd & 914 8 86 T T g?

(@AM

(b) 4

()G

(d)3

(e) None of these\z#H & FI< Al

Q7. How many such letters are there in the given series which are immediately preceded by a symbol and
immediately followed by a number?

21T ot | U forde 997 8 FSreh 21 9ol U Tt 3% Ste a7a Uah 637 g7
(a) Two\&r

(b) Four\=mX

(c) None\FTs 5t

(d) Three\di=

(e) More than four\=T & {2

Q8. If all the letters are dropped in the given series, which element will be eleventh from the right end?
Tfe & TS @t § geft FT il geT (AT S0, 97 i 97 9 a1 BT F A gd €19 T2 g7

(a) 4

(b) %

() &

(d)5

(e) None of these

TAH & HIE RN

Q9. Which of the following element is fourth to the right of the ninth element from the left end of the given
arrangement?

e § & 19 97 I & T SAF€AT o 974 T F Ard acd o a4 9719 T 9T g7
(a) 8
(b) K
(0E
(d)P
(e) L
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Q10. How many such symbols are there in the given series which are immediately preceded by a vowel

and immediately followed by a number?

2T TS @t | U fonde Wit ¢ (e St Tgel Uah T 3% 3ie 912 U 93T 67
(a) None\&Ts gl

(b) One\TH

(c) Two\&T

(d) Three\d=

(e) More than three\d 1= & 72

Directions (11-15): Study the given information carefully and answer the given questions.

HEENICEIREIRDICE LR U Ll R s BT SR R

Six persons were born on two different dates either 11 or 22 of three different months viz. September,
October and November. F was born on an odd date in the month which has even days. Two persons were
born between Q and F. More than two persons were born between Q and T. R was born before D and after
B

g ATRAT T ST7H QT AT -STAT ATC@T STAT AT AT 11 AT 22 T AT STT-3T H A1 AT (e, SAFaL oY
TEa H g AT| F T ST7H 39 "I+ § U faww fafer & g o, e 797 &9 ga €1 Q 377 F & &= a1 =ARA1 &7
STPH g3l Q 31X T o &1 &1 &/ ST{ersh SAT<hal &l ST7H g3l R &1 ST=H D | 921 3% B & aT< gall 7|

Q11. How many persons were born after R?
R % &7 foha SRl T S=H geim?

(a) Two\&T

(b) One\U=

(c) None\#Ts &t

(d) Three\di=

(e) None of these \ZH o &S gl

Q12. Who was born on 11th November?
11 TG FT o1 ST gl &1?

(@Q

(b) F

(D

(d)T

(e) None of these \Z7H ¥ Fls -‘-@'
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Q13. Which of the following statement is true?
Rafefaa & a7 Faa T 62

I. More than four persons were born after T

II. Two persons were born between B and D
III. At least one person was born after F

LT a7 =9 & ATqF AHAT 1 FH gar
IL. B ST D # 1= &1 =7 {<RT A7 ST gl

IIL. F % 9T 8 & % ek 1<k T 577 gal
(a) Both Il and III\II 3% Il T

(b) Only III\Fa= 111

(c) Both I and I1\I 3% Il =1

(d) Only I\#Fa< I

(e) All L, Il and III\&HY I, 11 3= 111

Q14. Who among the following was born in October?
Referierd & et ST sarea | el 9m?

(@R

(b)Q

(D

(d) Both R and D\R 3fi¥ D g1

(e) Both Q and D\Q 3fi¥ D g1

Q15.___ persons were born after D.
___ =fp/=a{Rdl T STH D % T2 ga AT
(a) One\u=

(b) Four\=mX

(c) Three\di=

(d) Two\&T

(e) None of these \ZH  #TE gl

Directions (16-18): Study the following information carefully and answer the questions given below:

AETored ST T AT IE T SAETTT o701+ &0 T T o 3L om0

There are seven members in a family in which two are married couples. S is grandmother of K. B is father-
in-law of A. C is mother of D. ] is brother of K and his mother is D. ] and K are unmarried.

U TA § 97 9267 &, foraH ar fearga s g1 S, KT e 81 B, AFT T gl C, DA AT 8| [, KFTATE &
S 3&eht ATaT D 21 ] 3% K srfaartza g
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Q16. How is S related to D?
S, D & T st Haifera 87
(a) Mother\#TdaT

BILINGUAL

AP

(b) Sister\sg
(c) Mother-in-law\dT&
(d) Grandmother\JTHa? for All Govt. Exams
. . (Bank, SSC, State, Teaching,
N f th
(e) None of these\37# & FIE i Defence & UPSC)
Q17. How is Crelated to K? Al ta SR

C, K & o wahre waifera 22

(a) Mother\#HTqaT

(b) Mother-in-law\dT®

() Paternal grandmother\aT&Y

(d) Maternal grandmother\#THT

(e) Can’t be determined \Fertfa agT 3 ST FahaT

Q18. How many female members in the family?
qRETe § fohael Aigar 93eT 872

(a) Two\&T

(b) Four\=mX

(c) Three\di=

(d) Five\ui=

(e) Can’t be determined \[H&Ta AET FoRAT ST &ehaT

Q19. In the number ‘95273524’, how many pairs of the digits have the same digits between them (both
forward and backward direction) as in the number series?

AT ‘95273524 |, SINT 3T d1eg THT O & UH Tohae e & 99 & Foreh o= 3a ol 3ia &, forae € @
# 3 AT 3

(a) Four\9mX

(b) Two\&T

(c) One\U=®

(d) Three\di=

(e) More than four\ =T & sTfers
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Directions (20-24): Study the following information carefully and answer the questions given below:

Ao ST 7 eqTg@ e STeq e shitory T = fw 0wt o 3w <1t

Seven people sit around a circular table and they all are facing the center. One person sits between M and
K. N sits 3rd to the left of K. D is neither an immediate neighbour of M nor N. G sits 21d to the right of D. O
sits 2nd to the left of L.

AT TR T AR HT o Ta-(14 9 g AT o THT g &l 3T TG F0h 96 g1 M 3T K F 77 U Afw a7 81 N,
K a1 | S T 9T 93T g1 D a7 M X T &1 N T [Aafhead 92t g1 G, D a8 § e e 9T 93751 0, L
AT H GHL T TLAST 2

Q20. Who sits 4th left of D?

D % T3 & AT AT I Al 93T 57
(a)M

(b) K

()0

(d)N

(e) None of these\z#H & #I< 7l

Q21. What is the position of G with respect to N?
N % q72¥ H G T T 77 872

(a) 3rd to the left\amd & FrHer

(b) 2nd to the right \&& & &1

(c) 3rd to the right \&T¥ & Tra<T

(d) Immediate left\Zs a3

(e) None of these\za# & < Tal

Q22. How many persons sit between O and M when counted to the left of M?
M F T3 & 9+ 9% 0 3T M % T foha A1k 95 872

(a) More than four\ =T ¥ {2

(b) Three\&+

(c) One\T=

(d) Two\&T

(e) None \FIs gl

Q23. Which of the following sits 2nd to the right of K?
fAerferierd # | 19 K % 74 & THY 419 T 937 872

(@G

(b)O

(oM

(d) L

(e) None of these\z#H & FIs A&l
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Q24. Which of the following statement is true?
Refraa & ¥ # a1 FaT T 67

I. N and O are immediate neighbors

IL. D sits 2nd to the left of O

III. One person sits between L and G

I. N 3T O fFsheaqw T=THt &

IL.D, O % a4 & T T IX 3T &
I1L. L 3T G % Weg U AT 93T g
(a) Both Il and III\II 3% Il T
(b) Only I\Fa= 1

(c) Only III \#a III

(d) Both I and I1\I 3% II 14T

(e) None is true \FE T O T &

Q25. Ifitis possible to make a meaningful word with the second, fourth, fifth, and eighth letters of the word
‘ACHIEVED’, then which of the following will be the third letter from the right end of that meaningful word?
If no meaningful word can be made, give X’ as the answer. If more than one meaningful word can be made,
give ‘Y’ as the answer.

Tf% 9153 'ACHIEVED' Y, AT, T 3T 5e &AL F Uk T oTe% a1 9T g, AT I T2l 9151 o a1
T | AT 90 (96 § & 0 97 g2 IS TS 207 9761 Aal ad 13T ST 9l g, A Sae h &7 § X' | AR uH T
ST STl 9168 IATT ST |l &, AT 3L 'Y 3|

(@)X

(b) I

QY

(d)D

(e)C

Directions (26-30): Study the following questions and answer them by referring to the word sequence
given below:

fAETorierd St T STe= o0 ST A= QU 70 97ex e § Hatera T o SAL &0
LAB FOX SIP BET  WET

Q26. When first and third letter of each word is interchanged, then how many meaningful words will be
formed?

ST ST 9167 o Tl SIIT ATE a0 &l ST9H § T& [IT 1T &, AT Thae Tt 9168 Fa?
(a) Three \&@=

(b) One \T=

(c) Two \&T

(d) Five \9T=

(e) None \FIs g1
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Q27. If each Consonant is changed to its previous letter and each vowel is changed to its next letter
according to the English alphabetical series, then how many words contain at least one vowel?

7 RIS ATTHATAT AT F SATETL AT AT I I Al A0 H T (QFT ST ST T4 T T IHH FTA A9
I (3T ST, 7 o 9TeaT | 7 & FH UF TG gEIT?

(a) None \&TE gl

(b) More than three\&¥ & sTfers

(c) Two \&T

(d) Three \&@=

(e) None of these\zaH & #I< Al

Q28. If words are arranged according to the alphabetical series (as in the English dictionary) from left to
right, which word will be third from the right end?

T orsal T AUTTHH o ATATE a4 F I3 (ST T SIS ersgenter #) =afeaa Bham Srar g, af i |7 o a1
SR T e g

(a) LAB

(b) SIP

(c) BET

(d) WET

(e) FOX

Q29. If each letter in each word is arranged according to the English alphabetical series from left to right,
then how many meaningful words will be formed?

TTe T T3 % T 7 Bl SUSIT AVHTAT o6 AT a4 | <14 A redd foram ST, 1 foraer st ereg a=i?
(a) Three \@T=

(b) One \TF

(c) Four\™mX

(d) Two\&T

(e) None \FIs gl

Q30. How many letters between 1st letter of 3rd word from right end
and 2nd letter of 2nd word from left end according to the English NRA CET Ready
dictionary?

STUSTT 9TeTHT o ATHTE 1A B H TTEL 905 % T2l 97 32 a3 S H
THY A58 % THY T 6 A1 [ohalol 997 87 BAN K

(a) Eight\31m%

(b) More than eleven\¥1<g T rfers M A H A PAC K

(c) Three\di=

(d) Four\=X Live Classes, Video Courses,
(e) None of these\z7H o #I5 ;@ Test Series, eBooks
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Directions (31-34): Study the following information carefully and answer the questions given below:

AT ST 7 eaT=g@ e STeae shitory T A= f3w 70wt o 3w <1t

Seven persons A, B, C, D, E, F and G live in a building of 7 floors but not necessarily in the same order. The
ground floor is numbered as 15t floor, just above floor is numbered as 2™ floor and so on till the topmost
floor is numbered as 7t floor.

Less than three persons live above F. One floor gap between E and F who lives above E. G lives just above
B who lives on even numbered floor. The number of floors above D is same as the number of floors below
A. Clives below A.

AT =AF A, B, C, D, E, F 3% G UF 7 6ot it g0ea § Tgq & St sy A1 3 =oft 9 & 211 saet &1 o’
wforer & w7 § e StTar 8, St suw i /e gt /e % w9 7 $i7 T avg g9y o wirer iy gear 74
Hforer o w9 § [T S1av 2|

F % SO A9 & %W =71<h T&d gl E 3T F, ST E % 39T WAl ¢, o 919 U Hiorel T d¥ 8| G, B, ST TH H&AT JTAT
HTSTer U¥ Tt 8, % 31 HU AT 81 D o ST HIorel i §eaT, A o {1= Hiorell T 53T % 9919 gl C, A F /1=
TEAT R

Q31. How many persons live below G?

G = = fohae =a~h w5 d 82
(a) None\®Ts gl

(b) Two\&T

(c) Six\@E

(d) Four\=m¥

(e) None of these\za# & #I< Tal

Q32. Who lives on the 5th floor?
53T HISTer 9% 3l Ygar g?

(@)D

(b) A

(c)F

(d) G

(e)C

Q33. The number of persons live above B is same as the number of persons live below ___.
B % U Tg ATl SATTHAT i H&AT __ o 1 L@l aTel ARl ol §edT o TH1 g

(@) E

(b) A

() F

(d)C

(e) None of these\z#H & FIs A&l
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Q34. Which of the following statement is true?
Refoaa § ¥ # a1 Faa a7 62

I. F does not live on even floor

II. E lives above D
II1. G lives on the 3rd floor

I. F 98 ST aTet §1o7e 9% 761 T8ar g
ILE D% Eare

II. G ST 9o T Tgar g

(a) Only I\#Fa< I

(b) Only II\Fa= 1I

(c) Both I and I1\I 3% Il =1

(d) Both II and III\II 3% I1I 74T

(e) None is true \FE T O T &

Q35. If each vowel of the word “QUALITY” is changed to the next letter of the English alphabets and each
consonant is changed to the previous letter of the English alphabet, and then the alphabets thus formed are
arranged in alphabetical order from left to right, which of the following will be fourth from the right end?

T 9rsg "QUALITY" F T T T SIS FUTHTAT & 3T A0 § aaet {I7 STAT § 3 Teis 2T T sy
FOTHTT % Tt a0t | ager {31 SI7aT &, 3% FhE S/ WohT< ST a0Tt &l auigHs § a1d 8 13 Aqieqd AT Srar
e, Meforfaa & & i 303 ST | =TT grm?

(@K

(b) P

(Vv

(d)J

(e) None of these \ZH  &IT gl

Directions (36-39): In each of the questions below, some statements are given followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

T R T S 7 § F AT 9% Fg, (AR QU U g SATIHT QU T FAAT A TF AT 8, T gl o
AT AT T2 e i 2 21| Tt st &7 eamaga steae Sry s araTeaa: s a=a1 i Iuer
T gu vl &3 136 [RT 0 9l | | &l 97 Moy driene &9 9 (S0 TT A1 H7 SAqH00T FHdT g

(a) If only conclusion I follows.\aT& &< AR | IO hTAT 2l

(b) If only conclusion II follows.\ T Faer ATt 1 IO HTAT 2l

(c) If either conclusion I or II follows.\ @& 2T T AT [ AT 11 WUTWT%'I

(d) If neither conclusion I nor II follows.\ &< 7 T AR [ 3T 7 &1 11 STTHIOT HTAT 2

(e) If both conclusions I and II follow.\TT& A [ i< 11 =1 IO FHTd 2l
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Q36. Statements: Only a few Grapes are Mango.
No Mango is Banana.

Only a few Banana are Papaya.

Conclusions: I. Some Mango are Papaya.

II. No Mango is Papaya

FA: FAA T, 3L A &l

TS AT AT 7l gl

FAA T, vl THIA B

A 1L % s adtar 2|

IL TS o9 qdaT 78l ol

Q37. Statements: Only a few City are Town.
All Town are Metro.

Conclusions: I. Some City are Metro.

I1. All City being Town is a possibility.

FA: FAA T, (el 23 2

AT 213 HeT 2

A 1L 35 T AT €l

IL T7 & % 218+ g9 it G913 81

Q38. Statements: Some Dolphin are Turtle.
All Turtle are Rabbit.

A few Owl are Rabbit.

Conclusions: I. All Dolphin are Owl.

I1. Some Dolphin are not Owl.

TAT: TS SHORA FgU 2l

Tl FgU G Bl

T Io @A B

s 1L 7fY stfem S 2

IL. FF TITHT 3o Al 2l

Q39. Statements: Only a few River are Mountain. ——m

No Mountain is Concrete.

4 b
Some Concrete are not Bricks. 4 B A N K b
Conclusions: I. Some River are being Concrete is a possibility.

I1. All Mountain can be river. . v
T et e At o H Test Mate]§§
TS T AT Tl & 1BPS|RBI|SBI&
3 I <2 Tl others

s 1. g AT & Sl g ol FHTEAT 2

1L Tsft ae e T4t &7 7t 2| 2800+ Total Tests
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Q40. Find the odd one out?
o 72

(a) CBF

(b) KIM

(c) POS

(d) vuy

(e) SRV

Q41.1fy?-x?>=72 and y - x = 4, then find the value of (x X y)?
TfE y2 - x2 =72 3l y - x = 4, AT (x x y) T AT A7 o0

(a) 33

(b) 44

(c) 55

(d) 77

(e) 66

Q42. The ratio of length to breadth of a rectangle is 7 : 3 and the perimeter of the rectangle is 40 cm. Find
the area (in cm?) of rectangle?

U AT il FATE S ATSTS T AT 7 : 3§, 3T AT AT TRATT 40 T 1 T T &R (HH2 H) AT
Frfem)

(a) 96

(b) 64

()21

(d) 378

(e) 84

Q43. A man invested Rs.1460 in each scheme A and B. If scheme A offers simple interest at 10% p.a. for
five years and scheme B offers simple interest at 10% p.a. for eight years, then find difference between
interest (in Rs.) received from both schemes?

U A<k 7 ST A 3T B, 4% § 1460 =. &7 f7arer 3Fam ofe Jsar A= a9 & o 10% frarus a2
ATLTII TS T&TT HLAl gl ST FTSHAT B, S FUT o6 (70 10% =t AT &€ & ATLTIT AT T&TT FHdl gl ar
AT TTSTATAT | YT AT (%, H) o T (a7 i ov|

(a) 438

(b) 428

(c) 408

(d) 448

(e) 418

Q44. A man purchased two articles at same cost price and he sold one article at 18% loss and second at
30% profit. If total profit earned is Rs.210, then find the cost price (in Rs.) of each article?

U A<k 7 &7 a&q THH 77 JoF I Gal A 399 Tah TE Al 18% FTH 9T 3T T a6 Al 30% ATH 9T
I=T| TfE F1 AT AT 210 %. €, AT TAF a5 FT 77 JoF (&. |) F1q Fiforul

(a) 1500

(b) 2000

(c) 2250

(d) 1750

(e) 1250
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Q45. A man purchase three different articles A, B & C and cost prices of these articles is Rs.52, Rs.78 and
Rs.108 respectively. If number of each type of article purchase by man is equal and man spends total of
Rs.1190, then find the number of each type of article purchased by the man?

T STk T SAAT-3TRT q&q0 A, B 3T C @OEAT &, TAT 37 a€q3h 1 %7 JoF HHA: 52 %, , 78 %. 3T 108 =.
gl TT =AT<h ZTRT GLIAT T Tesh TRTE shl aeq ol HedT 90T g ST AT $f 1190 %. @F Hal gl al A T<h g
FEET TS T THT il a6 0l HEAT AT iy

(@)8

(b) 4

(c)6

(d) 7

(e)5

Q46. The ratio of present age of A to that of B is 5 : 4 respectively. Four years hence, age of A will be three
years more than age of B six years hence. Find the present age of B?

A F TAHTT A FT B T aAATT o § AT HA: 5:4 1 A 9 A1, A FT 0, B A T2 a9 a1 o0l g o
A A srfers gt B T aqwT o 1q it

(a) 12 years/ T

(b) 20 years/ a&

(c) 16 years/ a&

(d) 24 years/ T

(e) 28 years/ T

Q47. A vessel contains 120 liters mixture of milk and water in the ratio of 5 : 3. If 20 liters milk added in
the vessel, then find the ratio of water to milk in resulting mixture?

U Fa9 | 120 e 39 AT ST 7 =07 5:3 % TqITq § g1 ATS Tad | 20 e g7 AT Srar g, av Tt
=0T § ST T g | AT AT i1

(@) 7:15

(b) 11: 19

(c)8:19

(d)9:19

(e)7:19

Q48. A car cover 160 km in five hours at the speed of x km/h and same distance cover by another car in 3
hour 20 minutes at the speed of y km/hr. Find the value of (x:y)?

e 1Y x Fohei/=eT it i & 9= "e § 160 Bt it g0 T it &, 3T gadt e y rsi/eer & afd 7 i =<
20 T\ § 979 0 T FAT gl (X 2 y) FT T 7T DI

(@)1:3

(b)2:3

(c)3:4

(d)1:4

(e)6:7
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Q49. A boat takes five hours to cover certain distance in upstream and takes two hours to cover the same
distance in downstream. If the speed of the stream is 3 km/hr, then find the distance?

T 79 G127 & FTadel U Hied L & T FT § I 5 H 97T ol g, TAT g1 6 A0 T 4 &l aF
LA | T A T AT Al gl AT g1 07 T 3 Fret/eer g, a1 0 1q i)

(a) 40 km / fofY

(b) 30 km / Tt

(c) 10 km / T

(d) 20 km / T

(e) 60 km / foFfY

Q50. A is 40% more efficient than B. If B takes 6 days more than A to complete a work, then in how many
days ‘A’ alone can complete the whole work?

A, B 40% T3 Foret g1 T B Fohelt &1 &7 2T e § A ¥ 6 o stferss oiar g, a7 'A' SeheT |0l h1d &l
e faat & @1 &2 Fhar 82

(a) 10 days / f&=

(b) 15 days / &=

(c) 21 days / fa=

(d) 24 days / fa=

(e) 12 days / f&=

Direction / RS9 (51-55): What will come in the place of question (?) mark in following number series -

eforied s @ § w27 &g (?) & T79 92 FAT SR -

Q51.2, 4, 7, 12, 19, ?
(a) 32
(b) 30
(c) 36
(d) 34
(e) 40

Q52. 67, 98, 129, 160, ?, 222
(a) 193 -
(b) 195 " ENGLISH
(c) 191

o () MAESTRO

Q53. 10, 18, 45, 109, ?, 450

(a) 231 RBI GRADE 'B’
%22335 PHASE-I + |l

(d) 236

(e) 239 200+ TOTAL TESTS
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Q54.12, 16, 25, 41, 7?7, 102
(a) 66
(b) 64
(c) 62
(d) 68
(e) 72

Q55.15, 20, 25, 30, ?, 40
(a) 32
(b) 35
(c) 36
(d) 45
(e) 48

Direction (56-60): Table given below shows total three types (Sunflowers, lilies and Roses) of flowers
used by an event management company in three different months. Read the data carefully and answer the
questions.

e d= & T qUfcrRT AT SAST-AT ARl § UF e AASTHe wOdT g SYANT 30 0 FAT % e A
TR (T, forett s permern) famamedY g1 22T &1 eam | o i o 3 3= fform)

Flowers/ &t January/Sa<t | February/ %<& March/ 919
Sunflowers/ TLSTHET 68 112 96

Lilies/ ferstt 84 64 80

Roses/ [T 72 88 118

Q56. Total number of sunflowers used in January & March together are what percentage more than total
number of roses used in January & February together?

AT 3T ATH H AT SUART R0 0 GRSET A e 6 T, Al i Bal # A SUANT T T
TATET ol %l ST & Tohae STq9Ta STTa 572

(a) 2.5%

(b) 5%

(©) 1.5%

(d) 4%

(€) 3%

Q57. Find the average number of all three types of flowers used by event management company in March?
T | Tae AeotHe T T STANT T ST arel Tt e SohT¥ o Bl sl Siea SedT SITd shiTorT?

(a) 91

(b)oo

(c)97

(d)93

(e) 98
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Q58. Find th(.e ratio of total number of roses used in January to total BILINGUAL
number of lilies used in January? .

SEdt § IUANT 60 T I[ATa 1 Fief HLAT T et § STANT 610 T0
forett st o1 |&AT & AT AT i o1

AP

(a)4:3

(b)6:5

()6:7

(d)9:4 for All Govt. Exams
(e)7:6 (Bank, SSC, State, Teaching,

Defence & UPSC)

Q59. Total number of roses used in March is how much more than

total number sunflowers used in January? 20000+ MOCK TESTS
AT H 39T U T IErE i Fer ST Sad § ST R

TISHET T FT AT & Tha=1 AT 52

(a) 90

(b) 80

(c) 50

(d) 40

(e) 60

Q60. Find the total number of sunflowers used in all the given three months?

o o ad i wEET § ST B T gt Y e St S e
(a) 276
(b) 274
(c) 268
(d) 272
(e) 264

Direction (61-65): Line graph shows total quantity (in kg) of five different dry fruits sold by a shop. Read
the data carefully and answer the questions.
RAer: T UTE UF THH G S U I AT-SNT G HAT %6l et AT (FReT ) fowmar 81 27 &1 eama | 92
T TAT F 3T A0

90

80

70

60

50

40

30

20

10

0

Almond Cashew Walnut Raisin Pistachio
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Q61. If the ratio of dry to wet Walnut & Pistachio sold by shop is 3 : 2 and 5 : 3 respectively, then find
difference (in kg.) between total dry Walnut & Pistachio sold by shop?

% THE FET a9 TC G F Aol q@ie {7 Owr w7 aqura #Hen 3:2 37 5:3 8, a7 TR g o9 U aE
Fge e fOwar & gex siaw (Frer ®) sra it

(@6

(b) 5

(c)8

(d)12

(e) 4

Q62. Find the ratio of total Almond to total Raisin sold by the shop?
TR GIT 9 U Ff STGTH T e [heTTHeT | AT AT i o1
(@)3:5

(b)2:
(c)1:
(d)2:
(e)1:

N w W oun

Q63. If total Apricot sold by shop is 50% more than total Cashew sold by the shop and total dry Apricot
sold by shop is 40% less than total wet Apricot sold by shop, then find total (in kg.) dry Apricot sold by the
shop?
7f T ZIRT A=Y TS T GATHT GRTT T o= TU el T F 50% HFAF §, TAT T T ST TE el @ T
GATAT A ST a=[ T8 FeA Tl Gart F 40% FF g, AT T g7 a4t 75 %A (Fher #) gt gat a1
ENE Y
(a) 45
(b) 36
(c) 40
(d) 30
(e) 60

Q64. Total Almonds & Pistachio sold by shop is what percent more than total Cashew sold by the shop?
T GIT a9 U Ff ITaTH AT THEqT, T G0 oA TT T 9 § Tohde TTqerd STee g2

(a) 20%

(b) 25%

(c) 24%

(d) 30%

(e) 40%
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Q65. Find the difference between total Walnut & Raisin sold by the shop and total Cashew & Pistachio sold
by the shop?

T GIRT o U F AGLUE AT herfHer T THI GIT o= MU Fo HI] 3T (9T & T AL AT hlorg?
(a) 40 kg / ToheT

(b) 5 kg / TFaT

(c) 30 kg / Teretr

(d) 20 kg / TeretT

(e) 10 kg / T

Direction (66 - 80): What value should come in place of (?) in the following questions?

farferfera st & (2) % TA79 9% FAT /I AET ATR0?

Q66.>° = /324 + V256
(a) 20

(b) 5

(c)10

(d) 15

(e) 25

Q67. 3 x?72=(5)2+(7)? + (17)?
(a) 12
(b) 13
(c)10
(d)11
(e) 15

Q68. 72 =40% of 420 + 44% of 200

(a) 24

(b) 12

(c)8

(d) 16 NRA CET Ready

(e) 416

Q69.27 of 4 of 35 0f 81 =7 BANK
(a) 2900

(b) 2500 MAHA PACK
(c) 2700

(d) 2300 Live Classes, Video Courses,
(e) 2400 Test Series, eBooks
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Q70.+/256 x 49 + (16)% — /343 = (7)?
(a) 21
(b) 18
(c) 14
(d) 22
(e) 19

Q71./256 x /169 +3600+ 12 =800 -?
(a) 312
(b) 280
(c) 292
(d) 324
(e) 296

Q72.37.5x14+800 —(26)2+136 = ?
(a) 785
(b) 800
(c) 810
(d) 825
(e) 765

Q73.412.25 x 18 -(6)? - V4 = (?)?
(@7
(b) 6
(€5
(d) 4
(e)3

Q74. (1350 + 1625) + (625 + 565) = ?
(a) 1.5

(b) 2.5

(1

(d) 2.25

(e) 2.75

Q75.v625 + Y64x 6 = 7% of 150
(@) 5

(b) 25

(c) 15

(d) 20

(e) 22.5
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(a) 2375
(b) 1825
(c) 2525
(d) 2150
(e) 1950

(a) 50
(b) 45
(c) 35
(d) 30
(e) 40

(a) 1%
9
(b) =
(92
()2
()

Q76.15 x 26 + 310 - (15)2 = 20% of ?

Q77.3%x /625 + 352 + 150 = (?)?

3 6 _ 77 92412
Q78.62+32—7-=7+1_

(a) 45
(b) 35
(c) 65
(d) 55
(e) 25

(a) 1050
(b) 1250
(c) 1150
(d) 1350
(e) 1450

Q79../80% of (? +60) = =% of12

Q80.250% of 300 - 55x 40 + 2700 =7

250

owLauncr S
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others
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